

Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1275993

Form CP-4

March 2009

Type or Print on this Form

Form must be Signed

All blanks must be Filled

WELL PLUGGING RECORD K.A.R. 82-3-117

OPERATOR: License #:				API No. 15	5			
Name:				Spot Desc	cription:			
Address 1:					Sec	Twp S. R	East West	
Address 2:				Feet from North / South Line of Section			outh Line of Section	
City:	State:	Zip:+		Feet from East / West Line of Section Footages Calculated from Nearest Outside Section Corner:				
Contact Person:								
Phone: ()					NE NW	SE SW		
Type of Well: (Check one)	Oil Well Gas Well	OG D&A Catho	odic	County: _				
Water Supply Well C	Other:	SWD Permit #:		County: Well #:				
ENHR Permit #: Gas Storage Permit #:					Completed:			
Is ACO-1 filed? Yes	No If not, is wel	I log attached? Yes	No				(Date)	
Producing Formation(s): List A		r sheet)		by:		(KCC I	District Agent's Name)	
Depth to	Top: Botto	om: T.D		Plugaina (Commenced:			
Depth to	Top: Botto	om: T.D						
Depth to	Top: Botto	om:T.D			·			
Show depth and thickness of a		ations.						
Oil, Gas or Water	Records		Casing	Record (Surfa	ace, Conductor & Prod	luction)		
Formation	Content	Casing	Size		Setting Depth	Pulled Out		
cement or other plugs were us	sed, state the character of	same depth placed from (b	ottom), to	(top) for each	n plug set.			
Plugging Contractor License #	<i>‡</i> :		_ Name:					
Address 1:			_ Addres	ss 2:				
City:				State:		Zip:	+	
Phone: ()				_				
Name of Party Responsible fo	or Plugging Fees:							
State of	County, _			, SS.				
				Fm	nlovee of Operator o	r Operator on a	hove-described well	

Submitted Electronically

(Print Name)

the same are true and correct, so help me God.

being first duly sworn on oath, says: That I have knowledge of the facts statements, and matters herein contained, and the log of the above-described well is as filed, and

Please remit to:

Nova Energy Services, LLC P.O. Box 10 Cleo Springs, OK 73729

Invoice

Date	Invoice #
9/3/2015	N116

Bill To	
O'Brien Energy 18 Congress St., Suite 20 Portsmouth, NH 03801-4091	

P.O. Number		Well Name	Terms	AFE#			
			Stalfus 1-34		-	-	
	Quantity		Des	cription		Price	_
	200 sk 688 lb	60/40 Ceme	POZ nt Gel		8.40 .18		

Quantity	Description		Price		Amount
200 sk 688 lb 20 40 200 sk 188 tm 1	60/40 POZ Cement Gel Pickup Mileage Heavy Equipment Mileage Blending & Mixing Service Charge Proppant and Bulk Delivery Charge Depth Charge 1001'-2000' Service Supervisor 8 hours		8.40 .18 4.25 7.00 1.40 .92 1040.00 98.00	<i>7</i> 1	1,680.0 123.8 85.0 280.0 280.0 172.9 1,040.0 98.0
	A THE STATE OF THE	PV1174 912	1 212015		

Sales Tax (0.0%)

\$0.00

Thank you

Total

\$3,759.80

Please remit to:

Nova Energy Services, LLC P.O. Box 10 Cleo Springs, OK 73729

Invoice

Date	Invoice #
9/3/2015	N116

Bill To	
O'Brien Energy 18 Congress St., Suite 20 Portsmouth. NH 03801-4091	

P.O. Number	Well Name	Terms	AFE#
	Stalfus 1-34		

Quantity	Description	Price	Amount
688 lb 20 40 200 sk 188 tm	Cement Gel Pickup Mileage Heavy Equipment Mileage Blending & Mixing Service Charge Proppant and Bulk Delivery Charge Depth Charge 1001'-2000' Service Supervisor 8 hours	8.40 .18 .4.25 7.00 I.40 .92 1040.00 98.00	1,680.00 123.84 85.00 280.00 172.96 1,040.00 98.00

Sales Tax (0.0%)

\$0.00

Total

\$3,759.80

Nova Energy

Services L.L.C.

Customer
O Brien Energy

P O Box 56

Turpin OK 73950 Phone (580) 778-0786

1 110110 (3 3 3)	
Address	AFE#

Field Invoice

Date	Invoice #
9/3/2015	N116

Roger Pearson 620-629-1565

18 Congress St STE 207 Portsmouth, NH 03801-4091

Well Information

Well Name		SecTwn Rar	1.
Stalfus 1-34			
County	State	Well Type	PTA
Meade	KS.	New Well	YES

Quan	UOM	Description		Price	Amount
200	sk	60/40 Poz		\$8.40	\$1,680
688	lbs	Cement Gel		\$0.18	\$123.84
20	mi	Pickup Mileage		\$4.25	\$85.00
40	mi	Heay Equipment Mileage		\$7.00	\$280.00
200	sks	Blending & Mixing Services Charge		\$1.40	\$280.00
188	tm	Proppant and Bulk Delivery Charge		\$0.92	\$172.96
1	4hr	Depth Charge 1001'-2000'		\$1,040.00	\$1,040.00
1	ea	Service Superviser 8 hours		\$98.00	\$98.00
	}		Sales Tax	TBD	8
			Grand Total	\$3,759.80	

Service Supervisior

Ismael Chavez

Company Operator

Date of Job

9/3/2015